HANSOMN

DR ED
INSTALLATION INSTRUCTIONS

JZJ1102-P / JZJ1202-P
ZJ FRONT WINCH BUMPER

e 3

1. Begin with removal of stock front
bumper. New hardware and brackets are
supplied to mount winch bumper.

3. Mount bumper to brackets using
supplied carriage bolts. Rotate bumper
to properly align with body of vehicle.
Tighten all mounting bolts at this time.

PARTS LIST

8 - 7/16” X 1.25” Carriage Bolts
8 - 7/16” Lock Washers

8 - 7/16” Flat Washers

8 - 3/8” x 2.5” Bolt

8 - 3/8” Lock Washers

8 - 3/8” Flat Washer

2 - Mounting Brackets

2. Mount brackets with tube extensions
facing the frame. They are used to
offset the brackets when mounting the
bumper. Leave brackets loose until
bumper is in position.

HANSON OFFROAD
12539 JOMANI DRIVE BAKERSFIELD CA 93312
877.757.9779 WWW.HANSONOFFROAD.COM
SALES@HANSONOFFROAD.COM

PROUDLY MADE IN THE USA!



	Page 1

